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Student: Instructor: Martha Carey Assignment: 5.2
Date: Course: Math 45-26 Sp13
Time: Book: Sullivan: Elementary &

Intermediate Algebra, 2¢

5.2.79. Simplify the expression.

(—xy) (x*y) (- 3%)°
(—xy) (y) (-3%)° =[]

(Simplify your answer. Type your answer using exponential notation.)
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Student: Instructor: Martha Carey Assignment: 5.2

Date:
Time:

Course: Math 45-26 Sp13
Book: Sullivan: Elementary &
Intermediate Algebra, 2¢

5.2.87. Simplify the expression completely.

(—5%2(4x)’
(—50%(@4x?) =[]
(Simplify your answer. Use integers or fractions for any numbers in the expression.)
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Student: Tnstructor: Martha Carey Assignment: 5.2

Date: Course: Math 45-26 Sp13
Time: Book: Sullivan: Elementary &
Intermediate Algebra, 2e

5.2.91. Simplify the expression.
1 3
(3x) 3( —2x) 2(?3)

(3x)3(~2x)2(§x3]3=D

(Simplify your answer. Type your answer using exponential notation.)
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Student: Instructor: Martha Carey Assignment: 5.2

Date: Course: Math 45-26 Sp13
Time: Book: Sullivan: Elementary &
Intermediate Algebra, 2¢

5.2.93. Simplify the expression.
5 3
-2(- 3xy2) 2(;x2y)
5 3
~2(-3xy”) 2(?2}') =0

(Simplify your answer. Use integers or fractions for any numbers in the expression. Type your
answer using exponential notation.)
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Student: Instructor: Martha Carey Assignment: 5.2
Date: Course: Math 45-26 Sp13
Time: Book: Sullivan: Elementary &
Intermediate Algebra, 2e
5.2.37. Simplify the expression.

(-2

[(-2) 4] g (-2 20 (Simplify your answer. Type your answer using exponential notation.)
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Student: Instructor: Martha Carey Assignment: 5.2

Date: Course: Math 45-26 Sp13
o Time: Book: Sullivan: Elementary &
) Intermediate Algebra, 2e
5.231. Simplify the expression.
(-0 (-x)?
(-0 (-0%= (-0P
(Simplify your answer. Type your answer using exponential notation.)
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